Division par 0,01 (A)

Trouvez chaque quotient.

45+ 0,01 = 57 +0,01 =
69 - 0,01 = 11+0,01=
9+0,01= 90 + 0,01 =
81-+0,01= 21+0,01=
69 - 0,01 = 44 - 0,01 =
19 - 0,01 = 45 + 0,01 =
47 - 0,01 = 26 - 0,01 =
17 + 0,01 = 45+ 0,01 =
61-+-0,01= 82 +0,01=
17 +0,01 = 18 +0,01 =
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Division par 0,01 (A) Solutions

45+ 0,01 =4500

69 + 0,01 =6900

9 = 0,01 =900

81+ 0,01=8100

69 = 0,01 =6900

19 +0,01=1900

47 +-0,01=4700

17+0,01=1700

61 +0,01=6100

17+0,01=1700

Trouvez chaque quotient.

57 +0,01=5700

11+0,01=1100

90 +~ 0,01 =9000

21+0,01=2100

44 + 0,01 =4 400

45 + 0,01 =4500

26 +~0,01=2600

45 + 0,01 =4500

82 +0,01=8200

18 +0,01=1800
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